EXAME PNEUMATICS, HYDRAULICS
2015.06.01. 10h 
Name, code---------------------------------------------

(Capital letters)

A.
Draw min. five types of positive displacement pumps. Explain the working principle! 
20 point
B. 
Draw a circuit with push button (4/2 valve) and a double acting cylinder. Solve Independent speed control of the plus and minus movements of the cylinder!  Explain: how can you change the velocity of the piston?












 20 point
C.
What is the PLC? List the main types if PLC! What is the ladder diagram?
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